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BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | ®WE | 4 ik
108380 [ZAval— B 150 19| 2850 0 19 2850
Sl S 4 B 200 54 10,800 29[ 55800 25 5,000
hELTE B 200 5| 1,000 5| 1,000 0 0
k< k(0.8) B 200 25 5,000 20[ 4,000 5| 1,000
1048 |#h#kfaESE (A=3 200 13| 2,600 2 400 11] 2,200
kS i 200 40[ 8,000 14| 2,800 26/ 5,200
10858 [FAval— xR 150 22 3,300 22[ 3,300 0 0
ke S (A3 200 21| 4,200 2 400 19| 3,800
T RE— (A3 200 21| 4,200 8| 1,600 13| 2,600
kS Fx 200 58] 11,600 15[ 3,000 43| 8,600
EEAER i 300 20| 6,000 20( 6,000 0 0
FEABR(1.5) e e 450 5| 2250 0 5| 2,250
10H6H |[7RZ— f£= 200 15 3,000 10| 2,000 5/ 1,000
kS Fx 200 15| 3,000 0 15| 3,000
EEAER EE] 300 40[ 12,000 37] 11,100 3 900
$EABR(1.5) et} 450 14| 6,300 0 14| 6,300
10878 [FAval— xR 150 50[ 7,500 20[ 3,000 30[ 4500
ke SE (A3 200 12| 2,400 5/ 1,000 7 1,400
T RAE— (A3 200 19| 3,800 8| 1,600 11] 2,200
Sl S 4 B 200 47( 9,400 21| 4,200 26/ 5,200
hERTE B 200 13| 2,600 13| 2,600 0 0
k< k(0.8) B 200 18] 3,600 18] 3,600 0 0
10811H [FAyval— B 150 61 9,150 20[ 3,000 41| 6,150
Sl S 4 B 200 68 13,600 14| 2,800 54 10,800
hELTE Fx 200 13| 2,600 0 13| 2,600
k< k(0.8) B 200 19| 3,800 17| 3,400 2 400
108128 |#h#kfaES& (A3 200 16| 3,200 5/ 1,000 11] 2,200
T AZ— EE 200 31] 6,200 5| 1,000 26| 5,200
108138 [#8AER EE] 300 16] 4,800 16] 4,800 0 0
$EABR(1.5) e e 450 10/ 4,500 0 10| 4,500
#hE i 600 50 30,000 35 21,000 15/ 9,000
108148 |[Z@yal)— Fx 150 48| 7,200 20| 3,000 28] 4,200




36, —R&E (3 BR5E | 15N S BRFE(ES])
#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%

b =) (A3 200 15| 3,000 5/ 1,000 10 2,000

FREI— fE= 200 30[ 6,000 7| 1,400 23| 4,600

Sl S g B 200 78| 15,600 20[ 4,000 58] 11,600

hELTE Fx 200 12| 2,400 0 12| 2,400

;< H(0.8) Fx 200 10[ 2,000 0 10/ 2,000

FEA BRCA]) AR 250( 130 32,500 67| 16,750 63| 15,750

108178 [FAval)— Fx 150 21] 3,150 0 21] 3,150
A= N=) EE 200 10| 2,000 6| 1,200 4 800

Sl S 4 B 200 56| 11,200 17| 3,400 39[ 7.800

hELTE Fx 200 14] 2,800 0 14| 2,800

k< 1(0.8) Fx 200 3 600 0 3 600
BAEREDE) S 200 50( 10,000 0 50( 10,000

HrE IR 100 40( 4,000 25 2500 15/ 1,500

10R188 |#h#kfaE& (A3 200 23] 4,600 4 800 19| 3,800
T AZ— EE 200 34| 6,800 2 400 32| 6,400

i R 600 135| 81,000 33[ 19,800 102 61,200

FEABRGA]) AT 250 80| 20,000 50| 12,500 30[ 7,500

10198 |#h#kfaE & (A3 200 7 1,400 0 7| 1,400
T AZ— EE 200 6] 1,200 0 6] 1,200

EEAER EE] 250 49 12,250 0 49 12,250

108208 [FAvyal)— B 150 13] 1,950 0 13| 1,950
SZhbk xR 200 48] 9,600 0 48[ 9,600

hERTE B 200 11] 2,200 0 11] 2,200

k< H(0.8) Fx 200 2 400 0 2 400

HEAER e e 250 64| 16,000 37| 9,250 27| 6,750

HYrME R 100 22| 2,200 0 22 2200

108218 |FikfaES& (=3 200 12| 2,400 8] 1,600 4 800
T RAE— (A3 200 31| 6,200 16| 3,200 15 3,000

FEABRGA]) AR 250 93| 23,250 47] 11,750 46| 11,500

B XA B 300 31 9,300 24 7,200 7| 2,100

108248 |[FOvyal)— Fx 150 9] 1,350 9] 1,350 0 0
kb B 200 69 13,800 32[ 6,400 37 7,400

hELTE B 200 22| 4400 14| 2,800 8| 1,600




36, —R&E (3 BR5E | 15N S BRFE(ES])

#R5EH @B MrEs| Hifi | BE | €5 | & | €% | BE | £4 &%
k< 1(0.8) Fx 200 1 200 1 200 0 0
B AR 250( 102 255500 50| 12,500 52| 13,000
108258 |FifkfaES& (A3 200 6| 1,200 4 800 2 400
T RE— = 200 25 5,000 6| 1,200 19| 3,800
i Rt 600[ 115[ 69,000 26| 15,600 89| 53,400
BAEREDE) el 200 69| 13,800 24| 45800 45( 9,000
B AT 250 25| 6,250 12| 3,000 13| 3,250
10H268 |#h#kfaESE = 200 2 400 1 200 1 200
T AZ— EE 200 6] 1,200 1 200 5| 1,000
i i 600 22| 13,200 10| 6,000 12| 7,200
BEREDE) et 200 30| 6,000 13| 2,600 17] 3,400
B AR 250 18] 4,500 12| 3,000 6] 1,500
108278 |[Z@yal)— Fx 150 17 2,550 17| 2,550 0 0
i i 600 3| 1,800 3| 1,800 0 0
108288 [S=hkXb B 200 64| 125800 39[ 7,800 25 5,000
b ERTE B 200 29[  5.800 22 4400 7| 1,400
k< k(0.8) B 200 3 600 3 600 0 0
108318 [FAval— xR 150 55| 8,250 35| 5250 20[ 3,000
T AZ— EE 200 44| 8,800 3 600 41| 8,200
&t 702,850 277,800 425,050




